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Or perhaps we follow his current intention - 3399 XNW:T 902 X297 IN

Overview

The X131 asked a series of queries concluding (as of now) with the query of one who
carried out the size of a n7317a to eat it, and it shriveled and he reconsidered to carry
it out for planting; if we follow his initial intention he is 715 (for now there is no
7w), or do we follow his current intention (Xnwi 7N2) and there is a My*w. The
X3 continues, if we assume Xnwi N2 what will be the ruling in another case!
(whether we apply 117 by naw or not).

- 37593 NOPIY NIY J1¥IIN NOWA N3 INT YNYN

It seems from the X713 that if we follow X7 9n3, there is no more room to query
regarding this case of 7pnx1 N731730 X°¥17 (he is certainly 2°°11), N190IN assumes this -
=195 NN NN NPNYY NIPIND NN NIXIN 1IN RNYN N2 91910 XN ONX 9MINRPTN

Since the X3 follows up and says, ‘if we assume that 339918 Xnw:7 202, what will
be the ruling in a case where he was X2 a nax73 for eating and it shriveled, and

it expanded back to its original size (is there »17 or not); however the X3 -
- IRPMPPN 1Y NIV NI

Did not continue and query regarding this original case (of Apnx1 31733 X0X17) -
= 7102 5279 RY IN NAY DIN 3N 11N IN 9D IPAIN ININ INNIN)Y

But why is it so; the X723 can still query whether there is >7°7 regarding naw or

not in our case, just as the X2 queries shortly regarding the case of anam 7m apny.

The reason the query of »11°7 applies in our case of 7p»n¥ (only) -
= PN NPNRSYI 110 NNT

For as soon as it was 7p»x to less than a n7217a it was N3, Why did not the X713 pose
the query of 117 regarding our case of pn¥?

Mo0IN answers:

! See footnote # 5.
2 Indicating that if we assume 1218 Xnwi n32 there is nothing more to query about in this case for he is certainly 2m.
3 The concept of *11>7 (pushed away) is found primarily by 2'w7p. It (usually) refers to a case where something was at
one point not fit for 2°w7p and later it became fit; do we say "n>7, meaning that since it was 171 (pushed away) once,
it is always 7173, even later when there is no longer the problem, or do we not apply "7 and instead we assume that
since now it is "X (for o'w7p) it is acceptable regardless that previously it was fnTl.
4 He took it out ;79°38? and it was 7pn¥ and there is no (77°28%) ARXM MWW, so the Naw MOR was 77, Therefore if we
assume *11°7 by naw, we will rule that since during this 79877 the AR%17 MO°X was 7173, therefore it remains 7173, even
though later he thought 7¥>1%, and then there is a M. Or perhaps the concept of »¥1°7 is not applicable by naw, and
since by the (79798 711%¥?) 77°pY there was a (NI3730) MW and by anan there was a (7¥°719) MW w, therefore he is 2n
(regardless that in between [after it was pn¥ and before he thought ny>1%] it was anT).
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= NN D YN STINDAT NONN NPITT 9D U

And one can say that only specifically in the following case can it be considered
a T -

= 519NN TIPIUN 172 PYUNRI NYUN 12 INTIY

Since, when it was 7pn¥ it was 7171 both from the first 992 and the last 293w -
$INT YD YN KD 7NHNT XD NN PINK MY WNRT NN Yan

However here (in the case of fipnx alone) it was never nsn7i from the last M yow
(the My w nman), therefore the 8723 did not consider it a "7,

Summary
The concept of naw Pivh »1°7 is only if it was 111771 both from the 7°py and 7man, but

not if it was not 71771 from the 7m3n.

Thinking it over

1. There are three steps in the 72851 of (2"777 *"i7n) AxxA. There is the 7Py, the
nman, and in between the 712v7 (transfer) 2"717 "1, Mo0IN claims that in our case
(where it was just 7pn¥ and 7y>r2 7721) it was not R Mwwn An71.° However if it
was 1pnX before the 7127 and the 73719 7711 took place after the 712v:, then at the
time of the 7M2vn (which is [perhaps] the main part of the 7198%n), it was an71 (for
then it was M¥°won NNy, since he was not 7711 as of yet). Will it be necessary to say
that the n¥>71% 721 needs to take place either before the 772y (or before the npny),
in order that it should not be considered a 117°7?

2. What would be in a case where 73> n73173 %12 X017 and 772I18Y 79101 and later
it was naa07 nnon?!o

3 The following query (regarding »11>7) was in a case where he took it out 79°38% (and did not change his mind [it was
always 177°0K?) however in between the 773 7Py it was apn¥ (which is a »1°7) and anom 77 (which made it “fit’
again).
¢ The WX MW refers to the amount required by the 77°py (which is n731730) and the PR MWW is the amount
required by the amn (which is also n731732 since his intention was always 72°98% exclusively). Therefore when it was
TpPnY it was n°n71 (unfit) both for the 77°py and 137 since at that point it did not have the n7x1720 M w,
7 The 7w for the Aman, which for 7y>11 is a X3 93, is always there, so therefore even when it was npn¥ it still had
the 7w of the (eventual) 7v°71% anan. This is not considered a "7 at all. See ‘Thinking it over” # 1.
8 In the navn itself there are also three stages; while it is still in the >"717 (before the 772v7), once it is in the 7" (after
the 772v77), and the point of 77277 (when the item passes 1"77% >"770).
9 See footnote 7.
10'See x"wmn and 821 °va 32 7"72 MR NOW.
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